Bulletin of the *Transilvania* University of Braşov • Vol 4(53), No. 1 - 2011 Series III: Mathematics, Informatics, Physics, 51-58

COEFFICIENT INEQUALITY FOR A GENERALIZED SUBCLASS OF ANALYTIC FUNCTIONS

Halit ORHAN¹, Nihat YAGMUR² and Erhan DENIZ³

Abstract

For $\alpha(0 \leq \alpha < 1)$, $\eta(0 \leq \eta \leq 1)$, $\beta(0 < \beta \leq 1)$, let $H^m_{\lambda,\mu}(\alpha; \beta, \eta)$ be the class of normalised functions defined in the unit disk \mathcal{U} by

$$\Re\left(\frac{(1-\eta)z(D^{m}_{\lambda,\mu}f(z))'+\eta z(D^{m+1}_{\lambda,\mu}f(z))'}{(1-\eta)D^{m}_{\lambda,\mu}g(z)+\eta D^{m+1}_{\lambda,\mu}g(z)}\right) > 0$$
(1)

where $D^m_{\lambda,\mu}$ is a linear multiplier differential operator and $g \in P^m_{\lambda,\mu}(\alpha;\beta,\eta)$ the class of normalized functions defined in the unit disk \mathcal{U} by

$$\left| \arg \left(\frac{(1-\eta)z(D^m_{\lambda,\mu}f(z))' + \eta z(D^{m+1}_{\lambda,\mu}f(z))'}{(1-\eta)D^m_{\lambda,\mu}f(z) + \eta D^{m+1}_{\lambda,\mu}f(z)} - \alpha \right) \right| < \frac{\pi}{2}\beta$$
(2)

For $f \in H^m_{\lambda,\mu}(\alpha;\beta,\eta)$ and given by $f(z) = z + a_2 z^2 + a_3 z^3 + \dots$, a sharp upper bound is obtained for $|a_3 - \xi a_2^2|$ when $A_2 \xi \ge A_1^2$ where A_1 and A_2 are given below.

2000 Mathematics Subject Classification: 30C45.

Key words: Fekete-Szegö problem, Analytic function, Strongly starlike and convex function, Closo-to-convex function.

1 Indroduction

Let \mathcal{A} denote the family of functions f of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \tag{3}$$

which are analytic in the open unit disk $\mathcal{U} = \{z : |z| < 1\}$. Further, let \mathcal{S} denote the class of functions which are univalent in \mathcal{U} . A function f(z) belonging to \mathcal{A} is said to be strongly starlike of order β and type α in \mathcal{U} , and denoted by $\overline{S}^*(\alpha; \beta)$ if it satisfies

$$\left| \arg\left(\frac{zf'(z)}{f(z)} - \alpha\right) \right| < \frac{\pi}{2}\beta \quad (z \in \mathcal{U})$$
(4)

 $^{^1 {\}rm Faculty}$ of Science, Department of Mathematics, Ataturk University, Erzurum, Turkey, e-mail: horhan@atauni.edu.tr

²Faculty of Science and Art, *Erzincan* University, Erzincan, Turkey, e-mail: nhtyagmur@gmail.com

 $^{^3 {\}rm Faculty}$ of Science, Department of Mathematics, Ataturk University, Erzurum, Turkey, e-mail: ed-eniz@atauni.edu.tr

for some $\alpha(0 \leq \alpha < 1)$ and $\beta(0 \leq \beta < 1)$. If $f(z) \in \mathcal{A}$ satisfies

$$\left|\arg\left(1+\frac{zf''(z)}{f'(z)}-\alpha\right)\right| < \frac{\pi}{2}\beta \quad (z \in \mathcal{U})$$

for some $\alpha(0 \leq \alpha < 1)$ and $\beta(0 < \beta \leq 1)$, then we say that f(z) is strongly convex of order β and type α in \mathcal{U} , and we denote by $\overline{C}(\alpha; \beta)$ the class of all such functions.

The linear multiplier differential operator $D^m_{\lambda,\mu}f$ was defined by the authors in (see [2])

$$\begin{array}{lcl} D^{0}_{\lambda,\mu}f(z) &=& f(z) \\ D^{1}_{\lambda,\mu}f(z) &=& D_{\lambda,\mu}f(z) = \lambda\mu z^{2}(f(z))'' + (\lambda - \mu)z(f(z))' + (1 - \lambda + \mu)f(z) \\ D^{2}_{\lambda,\mu}f(z) &=& D_{\lambda,\mu}\left(D^{1}_{\lambda,\mu}f(z)\right) \\ & & \vdots \\ D^{m}_{\lambda,\mu}f(z) &=& D_{\lambda,\mu}\left(D^{m-1}_{\lambda,\mu}f(z)\right) \end{array}$$

where $\lambda \ge \mu \ge 0$ and $m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$.

If f is given by (3) then from the definition of the operator $D^m_{\lambda,\mu}f(z)$ it is easy to see that

$$D^{m}_{\lambda,\mu}f(z) = z + \sum_{n=2}^{\infty} \left[1 + (\lambda\mu n + \lambda - \mu)(n-1)\right]^{m} a_{n} z^{n}.$$
(5)

It should be remarked that the $D_{\lambda,\mu}^m$ is a generalization of many other linear operators considered earlier. In particular, for $f \in \mathcal{A}$ we have the following:

- $D_{1,0}^m f(z) \equiv D^m f(z)$ the operator investigated by Sălăgean (see [4]).
- $D_{\lambda,0}^m f(z) \equiv D_{\lambda}^m f(z)$ the operator studied by Al-Oboudi (see [3]).
- $D_{\lambda,\mu}^m f(z)$ the operator firstly considered for $0 \leq \mu \leq \lambda \leq 1$, by Răducanu and Orhan (see [1]).

With the help of the differential operator $D^m_{\lambda,\mu}$, we say that a function belonging to \mathcal{A} is said to be in the class $P^m_{\lambda,\mu}(\alpha;\beta,\eta)$ if it satisfies

$$\left| \arg \left(\frac{(1-\eta)z(D^m_{\lambda,\mu}f(z))' + \eta z(D^{m+1}_{\lambda,\mu}f(z))'}{(1-\eta)D^m_{\lambda,\mu}f(z) + \eta D^{m+1}_{\lambda,\mu}f(z)} - \alpha \right) \right| < \frac{\pi}{2}\beta$$
(6)

for some $\alpha(0 \leq \alpha < 1)$, $\eta(0 \leq \eta \leq 1)$, $\beta(0 < \beta \leq 1)$ and for all $z \in \mathcal{U}$. Note that $P^0_{\lambda,\mu}(\alpha;\beta,0) = \overline{S}^*(\alpha;\beta)$ and $P^1_{1,0}(\alpha;\beta,0) = P^0_{1,0}(\alpha;\beta,1) = \overline{C}(\alpha;\beta)$. For the class S of analytic univalent functions, Fekete-Szegö [5] obtained the maximum

For the class \mathcal{S} of analytic univalent functions, Fekete-Szegö [5] obtained the maximum value of $|a_3 - \xi a_2^2|$ when ξ is real. For various functions of \mathcal{S} , the upper bound for $|a_3 - \xi a_2^2|$ is investigated by many authors including ([12], [13], [14], [15], [16]).

In this paper we obtained sharp upper bound for $|a_3 - \xi a_2^2|$ when f belonging to the class of functions defined as follows:

Definition 1. Let $\alpha(0 \leq \alpha < 1)$, $\eta(0 \leq \eta \leq 1)$, $\beta(0 < \beta \leq 1)$ and $f \in \mathcal{A}$. Then $f \in H^m_{\lambda,\mu}(\alpha;\beta,\eta)$ if and only if, there exists $g \in P^m_{\lambda,\mu}(\alpha;\beta,\eta)$ such that

$$\Re\left(\frac{(1-\eta)z(D^{m}_{\lambda,\mu}f(z))'+\eta z(D^{m+1}_{\lambda,\mu}f(z))'}{(1-\eta)D^{m}_{\lambda,\mu}g(z)+\eta D^{m+1}_{\lambda,\mu}g(z)}\right) > 0$$
(7)

where $g(z) = z + b_2 z^2 + b_3 z^3 + \dots$

Note that $H^0_{\lambda,\mu}(0;\beta,0) = K(\beta)$ the class of close-to-convex functions defined in [6], $H^0_{\lambda,\mu}(0;1,0) = K(1)$ is the class of normalized close-to-convex functions defined by Kaplan [7], and $H^0_{\lambda,\mu}(\alpha;\beta,0) = M(\alpha;\beta)$ is the class introduced and studied by Frasin and Darus [8]. $H^m_{1,0}(\alpha;\beta,\eta) = H(\alpha;\beta,\eta,m)$ is the class defined and studied by Orhan *et al.* [9].

2 Main results

In order to derive our main results, we have to recall here the following lemma (see [10]).

Lemma 1. Let $h \in \mathcal{P}$ i.e. h be analytic in \mathcal{U} and be given by $h(z) = 1 + c_1 z + c_2 z^2 + ...,$ and $\Re(h(z)) > 0$ for $z \in \mathcal{U}$, then

$$\left|c_{2} - \frac{c_{1}^{2}}{2}\right| \leqslant 2 - \frac{\left|c_{1}\right|^{2}}{2}.$$
 (8)

Theorem 1. Let $f(z) \in H^m_{\lambda,\mu}(\alpha;\beta,\eta)$ and be given by (3). Then for $0 \le \alpha < 1, 0 \le \eta \le 1$, $0 < \beta \le 1$ and $A_2 \xi \ge A_1^2$ we have the sharp inequality

$$\left|a_{3}-\xi a_{2}^{2}\right| \leqslant \frac{\beta^{2} \left[6 \left(A_{2}\xi-A_{1}^{2}\right)+\alpha \left(8A_{1}^{2}-2\alpha A_{1}^{2}-3A_{2}\xi\right)\right]}{3A_{1}^{2}A_{2}(1-\alpha)^{2}(2-\alpha)}+\frac{(3A_{2}\xi-2A_{1}^{2})(2\beta+1-\alpha)}{3A_{1}^{2}A_{2}(1-\alpha)}$$
(9)

where

$$A_{1} = [1 + (2\lambda\mu + \lambda - \mu)]^{m} [1 + \eta(2\lambda\mu + \lambda - \mu)], A_{2} = [1 + 2(3\lambda\mu + \lambda - \mu)]^{m} [1 + 2\eta(3\lambda\mu + \lambda - \mu)].$$

Proof. Let $f(z) \in H^m_{\lambda,\mu}(\alpha;\beta,\eta)$. It follows from (7) that

$$(1-\eta)z(D^{m}_{\lambda,\mu}f(z))' + \eta z(D^{m+1}_{\lambda,\mu}f(z))' = \left[(1-\eta)D^{m}_{\lambda,\mu}g(z) + \eta D^{m+1}_{\lambda,\mu}g(z)\right]q(z)$$
(10)

for $z \in \mathcal{U}$ with $q \in \mathcal{P}$ given by $q(z) = 1 + q_1 z + q_2 z^2 + \dots$ Equating coefficients, we obtain

$$2A_1a_2 = q_1 + A_1b_2 \tag{11}$$

and

$$3A_2a_3 = q_2 + A_1b_2q_1 + A_2b_3. (12)$$

Also, it follows from (6) that

$$(1-\eta)z(D_{\lambda,\mu}^{m}g(z))' + \eta z(D_{\lambda,\mu}^{m+1}g(z))' - \alpha \left[(1-\eta)D_{\lambda,\mu}^{m}g(z) + \eta D_{\lambda,\mu}^{m+1}g(z) \right]$$
(13)
= $\left[(1-\eta)D_{\lambda,\mu}^{m}g(z) + \eta D_{\lambda,\mu}^{m+1}g(z) \right] (p(z))^{\beta}$

where for $z \in \mathcal{U}$, $p \in \mathcal{P}$ and $p(z) = 1 + p_1 z + p_2 z^2 + \dots$ Thus equating coefficients, we obtain

$$A_1(1-\alpha)b_2 = \beta p_1 \tag{14}$$

$$A_2(2-\alpha)b_3 = \beta \left(p_2 + \frac{\beta(3-\alpha) + \alpha - 1}{2(1-\alpha)} p_1^2 \right).$$
(15)

From (11), (12), (14) and (15) we have

$$a_{3} - \xi a_{2}^{2} = \frac{1}{3A_{2}} \left(q_{2} - \frac{1}{2}q_{1}^{2} \right) + \frac{2A_{1}^{2} - 3A_{2}\xi}{12A_{1}^{2}A_{2}}q_{1}^{2} + \frac{\beta}{3A_{2}(2-\alpha)} \left(p_{2} - \frac{1}{2}p_{1}^{2} \right)$$
(16)
+
$$\frac{\left[2A_{1}^{2} - 3A_{2}\xi \right]\beta}{6A_{1}^{2}A_{2}(1-\alpha)} p_{1}q_{1} + \frac{\left[6A_{1}^{2} + 2\alpha^{2}A_{1}^{2} + 3\alpha A_{2}\xi - \left(6A_{2}\xi + 8\alpha A_{1}^{2} \right) \right]\beta^{2}}{12A_{1}^{2}A_{2}(1-\alpha)^{2}(2-\alpha)} p_{1}^{2}.$$

Assume that $a_3 - \xi a_2^2$ is positive. Hence we now estimate $\Re (a_3 - \xi a_2^2)$, so from (16) and by using the lemma 1 and letting $p_1 = 2re^{i\theta}$, $q_1 = 2Re^{i\phi}$, $0 \le r \le 1$, $0 \le R \le 1$, $0 \le \theta \le 2\pi$ and $0 \le \phi \le 2\pi$, we obtain

$$\begin{aligned} 3A_{2}\Re\left(a_{3}-\xi a_{2}^{2}\right) &= \Re\left(q_{2}-\frac{1}{2}q_{1}^{2}\right)+\frac{2A_{1}^{2}-3A_{2}\xi}{4A_{1}^{2}}\Re(q_{1}^{2})+\frac{\beta}{(2-\alpha)}\Re\left(p_{2}-\frac{1}{2}p_{1}^{2}\right)\right.\\ &+\frac{\left[2A_{1}^{2}-3A_{2}\xi\right]\beta}{2A_{1}^{2}(1-\alpha)}\Re(p_{1}q_{1})\\ &+\frac{\left[6A_{1}^{2}+2\alpha^{2}A_{1}^{2}+3\alpha A_{2}\xi-\left(6A_{2}\xi+8\alpha A_{1}^{2}\right)\right]\beta^{2}}{4A_{1}^{2}(1-\alpha)^{2}(2-\alpha)}\Re(p_{1}^{2})\\ &\leq 2\left(1-R^{2}\right)+\frac{2A_{1}^{2}-3A_{2}\xi}{A_{1}^{2}}R^{2}\cos 2\phi+\frac{2\beta}{(2-\alpha)}\left(1-r^{2}\right)\\ &+\frac{2\left[2A_{1}^{2}-3A_{2}\xi\right]\beta}{A_{1}^{2}(1-\alpha)}rR\cos\left(\theta+\phi\right)\\ &+\frac{\left[6A_{1}^{2}+2\alpha^{2}A_{1}^{2}+3\alpha A_{2}\xi-\left(6A_{2}\xi+8\alpha A_{1}^{2}\right)\right]\beta^{2}}{A_{1}^{2}(1-\alpha)^{2}(2-\alpha)}r^{2}\cos 2\theta\\ &\leq \frac{3A_{2}\xi-4A_{1}^{2}}{A_{1}^{2}}R^{2}+\frac{2\left[3A_{2}\xi-2A_{1}^{2}\right]\beta}{A_{1}^{2}(1-\alpha)}rR\\ &+\left(\frac{\left[6\left(A_{2}\xi-A_{1}^{2}\right)+\alpha\left(8A_{1}^{2}-2\alpha A_{1}^{2}-3A_{2}\xi\right)\right]\beta^{2}}{A_{1}^{2}(1-\alpha)^{2}(2-\alpha)}-\frac{2\beta}{2-\alpha}\right)r^{2}\\ &+\frac{2\beta}{2-\alpha}+2\\ &= \Psi(r,R). \end{aligned}$$

Letting α, β, η and ξ fixed and differentiating $\Psi(r, R)$ partially when $0 \le \alpha < 1, 0 \le \eta \le 1$, $0 < \beta \le 1$ and $A_2 \xi \ge A_1^2$ we observe that

$$\Psi_{rr}\Psi_{RR} - (\Psi_{rR})^2 = 16\beta A_1^4 \left(2\alpha^2\beta + 2\alpha^2 + 4\beta + 2 - 4\alpha - 7\alpha\beta\right) \\ -12\beta\xi A_1^2 A_2 \left(2\alpha^2\beta + 2\alpha^2 + 6\beta + 2 - 4\alpha - 8\alpha\beta\right) < 0.$$

Therefore, the maximum of $\Psi(r, R)$ occurs on the boundaries. Thus the desired inequality follows by observing that

$$\Psi(r,R) \leq \Psi(1,1) = \frac{\beta^2 \left[6 \left(A_2 \xi - A_1^2 \right) + \alpha \left(8A_1^2 - 2\alpha A_1^2 - 3A_2 \xi \right) \right]}{A_1^2 (1-\alpha)^2 (2-\alpha)} + \frac{\left[3A_2 \xi - 2A_1^2 \right] (2\beta + 1 - \alpha)}{A_1^2 (1-\alpha)}.$$
(18)

The equality for (9) is attained when $p_1 = q_1 = 2i$ and $p_2 = q_2 = -2$. Letting $\lambda = 1$, $\mu = 0$ in the Theorem 1 we get the result given by Orhan *et al.*[9]:

Corollary 1. Let $f \in H^m_{1,0}(\alpha; \beta, \eta)$ and be given by (3). Then for $0 \le \alpha < 1, 0 \le \beta < 1$ and $3^m(2\eta + 1)\xi \ge 4^m(\eta + 1)^2$ we have the sharp inequality

$$\begin{aligned} & \left| a_3 - \xi a_2^2 \right| \\ \leqslant \quad \frac{6\beta^2 \left[3^m (2\eta + 1)\xi - 4^m (\eta + 1)^2 \right]}{12^m 3 (2\eta + 1) (\eta + 1)^2 (1 - \alpha)^2 (2 - \alpha)} \\ & + \frac{\alpha \beta^2 \left[2^{2m + 3} (\eta + 1)^2 - 2^{2m + 1} \alpha (\eta + 1)^2 - 3^{m + 1} (2\eta + 1) \xi \right]}{12^m 3 (2\eta + 1) (\eta + 1)^2 (1 - \alpha)^2 (2 - \alpha)} \\ & + \frac{\left[3^{m + 1} (2\eta + 1)\xi - 2^{2m + 1} (\eta + 1)^2 \right] (2\beta + 1 - \alpha)}{12^m 3 (2\eta + 1) (\eta + 1)^2 (1 - \alpha)}. \end{aligned}$$

Letting $m = \alpha = \eta = 0$ in the Theorem 1 we get the result given by Jahangiri [11]:

Corollary 2. Let $f \in K(\beta)$ and be given by (3). Then for $0 \le \beta < 1$ and $\xi \ge 1$ we have the sharp inequality

$$|a_3 - \xi a_2^2| \leq \beta^2 (\xi - 1) + \frac{(2\beta + 1)(3\xi - 2)}{3}.$$

Letting $m = \eta = 0$ in the Theorem 1 we get the result given by Frasin and Darus [8]:

Corollary 3. Let $f \in M(\alpha; \beta)$ and be given by (3). Then for $0 \le \alpha < 1, 0 \le \beta < 1$ and $\xi \ge 1$ we have the sharp inequality

$$\left|a_{3}-\xi a_{2}^{2}\right| \leqslant \frac{\beta^{2} \left[6(\xi-1)+\alpha \left(8-2\alpha-3\xi\right)\right]}{3(1-\alpha)^{2}(2-\alpha)} + \frac{(2\beta+1-\alpha)(3\xi-2)}{3(1-\alpha)}.$$

Letting $\lambda = 1, \mu = 0, m = 0, \eta = 1$ in the Theorem 1 we have

Corollary 4. Let $f \in H^0_{1,0}(\alpha; \beta, 1)$ and be given by (3). Then for $0 \le \alpha < 1, 0 \le \beta < 1$ and $\xi \ge 4/3$ we have the sharp inequality

$$|a_3 - \xi a_2^2| \leq \frac{\beta^2 \left[6(3\xi - 4) + \alpha \left(32 - 8\alpha - 9\xi\right)\right]}{36(1 - \alpha)^2(2 - \alpha)} + \frac{(2\beta + 1 - \alpha)(9\xi - 8)}{36(1 - \alpha)}.$$

Letting $\lambda = 1, \mu = 0, m = 0, \eta = 1/2$ in the Theorem 1 we have

Corollary 5. Let $f(z) \in H^0_{1,0}(\alpha; \beta, 1/2)$ and be given by (3). Then for $0 \le \alpha < 1$, $0 \le \beta < 1$ and $\xi \ge 9/8$ we have the sharp inequality

$$\left|a_{3}-\xi a_{2}^{2}\right| \leqslant \frac{\beta^{2} \left[6(8\xi-9)+\alpha \left(72-18\alpha-24\xi\right)\right]}{54(1-\alpha)^{2}(2-\alpha)} + \frac{(2\beta+1-\alpha)(4\xi-3)}{9(1-\alpha)}.$$

Letting $\lambda = 1, \mu = 0, m = 1, \eta = 1$ in the Theorem 1 we have

Corollary 6. Let $f \in H^1_{1,0}(\alpha; \beta, 1)$ and be given by (3). Then for $0 \le \alpha < 1, 0 \le \beta < 1$ and $\xi \ge 16/9$ we have the sharp inequality

$$\left|a_{3}-\xi a_{2}^{2}\right| \leqslant \frac{\beta^{2} \left[6(9\xi-16)+\alpha \left(128-32\alpha-27\xi\right)\right]}{432(1-\alpha)^{2}(2-\alpha)} + \frac{(2\beta+1-\alpha)(27\xi-32)}{432(1-\alpha)}.$$

Letting $\lambda = 1, \mu = 0, m = 1, \eta = 1/2$ in the Theorem1 we have

Corollary 7. Let $f \in H^1_{1,0}(\alpha; \beta, 1/2)$ and be given by (3). Then for $0 \le \alpha < 1, 0 \le \beta < 1$ and $\xi \ge 3/2$ we have the sharp inequality

$$|a_3 - \xi a_2^2| \leq \frac{\beta^2 (2\xi - 3) + \alpha (4 - \alpha - \xi)}{9(1 - \alpha)^2 (2 - \alpha)} + \frac{(2\beta + 1 - \alpha)(\xi - 1)}{9(1 - \alpha)}.$$

Letting $\lambda = 1, \mu = 1, m = 1, \eta = 1$ in the Theorem 1 we have

Corollary 8. Let $f \in H^1_{1,1}(\alpha; \beta, 1)$ and be given by (3). Then for $0 \le \alpha < 1, 0 \le \beta < 1$ and $\xi \ge 81/49$ we have the sharp inequality

$$|a_3 - \xi a_2^2| \leq \frac{\beta^2 \left[6(49\xi - 81) + \alpha \left(648 - 162\alpha - 147\xi\right)\right]}{11907(1 - \alpha)^2(2 - \alpha)} + \frac{(2\beta + 1 - \alpha)(147\xi - 162)}{11907(1 - \alpha)}.$$

References

- [1] D. Răducanu and H. Orhan, Subclasses of analytic functions defined by a generalized differential operator, Int. Journal of Math. Analysis 4(1) (2010) 1-15.
- [2] E. Deniz, H. Orhan, The Fekete Szegö problem for a generalized subclass of analytic functions, Kyungpook Math. J. 50 (2010) 37-47.
- F. M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, Int. J. Math. Sci. 27 (2004) 1429-1436.

- [4] G. S. Sălăgean, Subclasses of univalent functions, Complex analysis –Proc. 5th Rom.-Finn. Semin., Bucharest 1981, Part 1, Lect. Notes Math. 1013 (1983) 362-372.
- [5] M. Fekete-Szegö, Eine Bemerkung über ungrade schlicht Funktionen, J. London Math. Soc. 8(1933), 85-89.
- [6] A. Chonweerayoot, D.K. Thomas and W. Upakarnitikaset, On the coefficients of close-to-convex functions, Math. Japon. 36(5) (1991), 819-826.
- [7] W. Kaplan, Close-to-convex schlicht functions, Mich. Math. J., 1(1952), 169-185.
- [8] B.A. Frasin and M. Darus, On the Fekete Szegö problem, Internet. J. Math. Sci. 24(9) (2000), 577-581.
- [9] H. Orhan, M. Kamali, B. Frasin and M. Darus, A coefficient Inequality for Certain Classes of Analytic Functions, Intern. Math. J., 4(2003), no. 2, 127-135.
- [10] Ch. Pommerenke, Univalent functions, Vandenhoeck and Rupercht, Göttingen (1975).
- M. Jahangiri, A coefficient inequality for a class of close-to-convex functions, Math. Japon. 41(3) (1995), 557-559.
- [12] H.R. Abdel-Gawad and D.K. Thomas, The Fekete-Szegö Problem for strongly closeto-convex functions, Proc. Amer. Math. Soc. 114(1992) 345-349.
- [13] M. Darus and D.K. Thomas, On the Fekete-Szegö Problem for close-to-convex functions, Math. Japonica 47(1998) 125-132.
- [14] H. Orhan, E. Deniz, D. Răducanu, The Fekete-Szegö problem for subclasses of analytic functions defined by a differential operator related to conic domains, Comput. Math. Appl. 59 (2010) 283-295.
- [15] H. Orhan, D. Răducanu, Fekete-Szegö problem for strongly starlike functions associated with generalized hypergeometric functions, Math. Comput. Modelling 50 (2009) 430-438.
- [16] H. Orhan, E. Deniz, M. Çağlar, Fekete-Szegö problem for certain subclasses of analytic functions, (accepted in Demonstratio Mathematica) (2011).